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/*while 3XZEE&1 while_test.c OAVNERE </
#include<stdio.h>
int main()

int a;

a=1; /* ZAD—EZLTRITIH-HEEEZKA */

printf("=EREFLE ¥n");
while(a)
{
printf("ad{EILOLIS (B) TY . ¥n™);

printf("1 (E) M0 (&) Z A HWLTTELY, ¥n™);

scanf("%d", &a);
¥
printf("ad{EA0 (#4) [TZEYELT=, ¥n™);
printf("EER T¥n"™);
return O;
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#define LOOPMAX 100

int main()

{
int i;  /FIL—ThoUE*/

i=0; /* L—THhO 2D MERL*/
while( i < LOOPMAX) /*&4-$r>/
{

i++; /*IL—THIEZDAT) A R*/
} 11

BEIL—TEEDEL

BHoBEWNTOTSLORKRELT, ERIL—THH5B,

WAWARTOYSLEESDET,

R )IL—TEH->TULEITAIEES ALY,

\EBRIL—TDEES

while(1)
{

+

TOTSLRKROLIENESEIZIE, Z2hTh
TS LERTLTLSKktermE T, &bl e,
AVMA—LF—FRLENS. cXF—%F S (2H%

?m‘a_o (C_C) 12




2009FETAT IV EEEN E6EEYIRL T (REICKDHIEYR

JmE2
/* infty_loop.c #ERIL—TERE QA FERE) >/
#include<stdio.h>
int main()
{
printf(" &R JL—TRERBHIA ¥n™);
while(1)
{
printf("*¥n");
printf("**¥n");
printf("***¥n");
printf("****¥n");
printf("*****¥n");
printf("******¥n™);
ks
printf("&EIZEITSNALY, ¥n");
return O; "
ks
break3(
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break;
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return O;
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/*
/B :yyyy/mm/dd
ERE : ARFEAER
FEEFHS BOOBOXX
Y—RXT7A )L :mysqrt.c
ETT74IL :mysqrt
B —a— b RFEAVWTEARERDZTOT S L,
KROGNT=FABDED ZFL, ANSINT{EDEDIMRHE
EPS(1.0e-5) kYU /INEKAEHETHRYIRLETTD,
(#2Y3R LB AHLOOPMAX(1000)EIZELESIZHIR T T H,)
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/*

/* BIR—U o DfRE */

#include <stdio.h>
#include<math.h>

/*HOAFFE*/

#define EPS (1.0e-5) /*UNE.Za—bUEDIRREH >/
#define LOOPMAX 1000 /* #YUiRLOZKEE*/
int main()

{

/* BHEE */

double input; /* ARNSNBEEH, Za— U EDOHERE>/
double approx; /* FEHBOALLUE >/
double error; /* FHBOALUEDZF L.
ARSI EDZEDIERHE>/
int kaisuu; /=8 IRL[EE*/
RDR—T(ZHiL */

21

/*

/* BIR—UHoDiRE */

/* FHBRERODIRNEZEHBEDOA S */
printf("FAIRERHE T, ¥n");
printf("IEEDE#HE A SILTT I, ¥n™);
scanf("%lf", &input);

/* ADENELWVEETHEINFIVY >/
if(input ==0.0)
{ /*input=0.0D&E(L, BASMNZONFEHIBTHEDT*/
[*Za—hUEEFRALGLEL R/
printf("'%6.2f MEAHR(L%6.2fTT, ¥n", input, 0.0);
return O;

3
else if(input<0.0)

/*inputhh B D EE*/
printf"EDHLED T, ERDOEARIEIHYEE A, ¥n");
return -1;
b
/* TRLETIX., inputlXIEDER*/
RDOR—(2Hi< */ 22
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/* FIR—=TUDoDHRE */
[*Za—bUED AR E >/
approx = input; [*Za—hEDEEE A NEIZERE>/
error = fabs(approx*approx - input);
kaisuu = 0;
/* Za—hUEDHEYRLALIE >/
while(error > EPS) /* ZMEPS&kYKEL\EILIEYIRT >/
{
if(kaisuu==LOOPMAX)
{

}
/* Za—RUEDFRPRBOREK */
printf(*'x%d = %15.8f ¥n", kaisuu, approx);
/* Za—bEDOHIEXDEFE >/
approx = ( approx + (input/approx) ) / 2.0;
error = fabs(approx*approx - input);

break; /* #&2YRLEI$D LREBA-DTHET */

/* ROBYIRLLIEBD-OHDZEER */
kaisuu++;
23

}
/> ROR—IIHK */

/* BIR—O Mo DERE */

/* SHERBROE N */
printf("%66.2f NF AR (E%15.8fTH, ¥n", input, approx);
return O;
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